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Your school is going to conduct a meeting to congratulate Rahul of standard 

VII, who won the gold medal and created a meet record in the recent State 

School Athletic Meet. Olympian Irfan will be presiding over the meeting.  

Being the School leader you are asked to make the welcome speech.  Prepare 

the welcome speech for the programme. 
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Speech – Grading Indicators       Score  : 10  

 

 Salutation       : 2 

 Introduction      : 2 

 Appropriateness  of  Langauge  

stylistic use of language    : 2 

 Content of speech     : 2 

 Conclusion      : 2  
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 Read the following passage and answer the following questions:- 

Not only is diabetes a leading killer, the type 2 form of the disease is now a 

deadly epidemic in India. Diabetes affects and estimated 25 to 40 million 

Indians, according to different estimates and at this rate the number of 

patients could double by 2030.  With more diabetics than any other country – 

every fourth patient today is an Indian – India is often called the diabetes 

capital of the world. 

 Some reasons for this epidemic: experts say that many Indians are 

generally predisposed to the disease. Others attribute it to a rising incidence of 

obesity, high-fat, high-calorie diets, sedementary life styles, lack of exercise and 

even stress. 

1. Which among the following is mentioned as an epidemic in the passate? 

A) Dengue   

B) Diphtheria  

C) Aiabetes   

D) Diarrhea 

2. Most appropriate title for the passage is : 

A) Diabetes 

B) India – world diabetes Capital 

C) Causes of diabetes 

D) Epidemic in Inda. 



3. Pick out the statement which is not true. 

A) 25 to 40 million Indians are affected with diabetes. 

B) The diabetes patients in India could be doubled by 2030. 

C) Every fourth diabetes patient is from India. 

D) Diabetes is not a deadly epidemic. 

4. One of the following is not the cause of diabetes mentioned in the 

passage. 

A) High-fact, high calorie diets. 

B) Obesity and stress. 

C) Over exercise 

D) Genetic disposition 

5. What will be the estimated expectant number of diabeties patient by 20-30? 

A) 50 to 80 million  

B) 25 to 40 million 

C) 80 to 100 million 

D) 30 to 60 million  

6. Major cause of diabetes among Indians is : 

A) Life style    

B) Lack of exercise  

C) High fat diet 

D) Hereditary     
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23 2016 
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D)  D.U.S.A

A) 1905  

B) 1885

C) 1921

D) 1857  







1-C   13-B   25-C 

2-B   14-C   26-C 

3-D   15-D   27-A 

4-C   16-B   28-C 

5-A   17-B   29-D 

6-D   18-C   30-C 

7-B   19-C 

8-C   20-B 

9-B   21-A 

10-B   22-D 

11-C   23-C 

12-D   24-B    


